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2| EEHER R3fTEREAERLS 0.790] A 57,400 45346] 57,400 45,346 0.000 0
3| HRETA R3MTERAERLE 0.000] A 51,200 0| 51,200 0 0.000 0
4|5 EMB R3fTEREAERLS 1.580 A 40,600 64,148| 40,600 64,148 0.000 0
5|iEfiC R3ZfTERAERLS 1.390] A 32,800 45592| 32,800 45,592 0.000 0
6|8 R3FfTEEERLE 0.000[ A 29,000 0] 29,000 0 0.000 0
22| T R3MTERAERLS 0.000[ A 29,600 0 0 0 0.000 0
&t 155,086 155,086 0.000 0
B fi 1.0 KLY 155,086
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ZTDMRE 0
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RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
2| EEHER R3fTEREAERLS 0.760] A 57,400 43,624| 57,400 43,624 0.000 0
3| XETA R3MTERAERLE 2110 A 51,200 108,032 51,200 108,032 0.000 0
4|$%EMB R3fTEREAERLS 48201 A 40,600 195,692 40,600 195,692 0.000 0
5|$%EMC R3ZfTERAERLS 57201 A 32,800 187,616/ 32,800 187,616 0.000 0
6|8 R3fTEREAERLS 8.120] A 29,000 235,480| 29,000 235,480 0.000 0
22| T R3MTERAERLS 4800 A 29,600 142,080 0 0 0.000 0
&t 912,524 770,444 0.000 0
B fif 1.0 &Y 912,524
EEAME 770,444
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2| EEHER R3fTEREAERLS 0.000] A 57,400 0| 57,400 0 0.000 0
3| HRETA R3MTERAERLE 0.680] A 51,200 34,816| 51,200 34,816 0.000 0
4|5 EMB R3fTEREAERLS 0.680] A 40,600 27,608| 40,600 27,608 0.000 0
5|iEfiC R3ZfTERAERLS 0.000] A 32,800 0| 32,800 0 0.000 0
6|8 R3fTEREAERLS 1.090[ A 29,000 31,610 29,000 31,610 0.000 0
22| T R3MTERAERLS 0.000[ A 29,600 0 0 0 0.000 0
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2| EEHER R3fTEREAERLS 0.000] A 57,400 0| 57,400 0 0.000 0
3| XETA R3MTERAERLE 1110 A 51,200 56,832| 51,200 56,832 1.110| 56,832
4|5 EMB R3fTEREAERLS 1.860[ A 40,600 75,516 40,600 75,516 1.860] 75516
5|$%EMC R3ZfTERAERLS 0.000] A 32,800 0| 32,800 0 0.000 0
6|8 R3fTEREAERLS 1.680] A 29,000 48,720 29,000 48,720 1.680] 48,720
22| T R3MTERAERLS 0.000[ A 29,600 0 0 0 0.000 0
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2| EEHER R3fTEREAERLS 0.000] A 57,400 0| 57,400 0 0.000 0
3| XETA R3MTERAERLE 0.680] A 51,200 34,816| 51,200 34,816 0.000 0
4|$%EMB R3fTEREAERLS 1.180 A 40,600 47,908| 40,600 47,908 0.000 0
5|$%EMC R3ZfTERAERLS 0.000] A 32,800 0| 32,800 0 0.000 0
6|8 R3FfTEEERLE 0.000[ A 29,000 0] 29,000 0 0.000 0
22| T R3MTERAERLS 0.000[ A 29,600 0 0 0 0.000 0
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2| EEHER R3fTEREAERLS 0.860] A 57,400 49.364| 57,400 49,364 0.000 0
3| HRETA R3MTERAERLE 0.000] A 51,200 0| 51,200 0 0.000 0
4|5 EMB R3fTEREAERLS 1.720 A 40,600 69,832| 40,600 69,832 0.000 0
5|iEfiC R3ZfTERAERLS 1.510] A 32,800 49528| 32,800 49,528 0.000 0
6|8 R3FfTEEERLE 0.000[ A 29,000 0] 29,000 0 0.000 0
22| T R3MTERAERLS 0.000[ A 29,600 0 0 0 0.000 0
&t 168,724 168,724 0.000 0
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2| EEHER R3fTEREAERLS 0.820] A 57,400 47,068 57,400 47,068 0.000 0
3| XETA R3MTERAERLE 2290 A 51,200 117,248 51,200 117,248 0.000 0
4|5 EMB R3fTEREAERLS 5230 A 40,600 212,338| 40,600 212,338 0.000 0
5|$%EMC R3ZfTERAERLS 6.200] A 32,800 203,360| 32,800 203,360 0.000 0
6|8 R3fTEREAERLS 8.800] A 29,000 255,200| 29,000 255,200 0.000 0
22| T R3MTERAERLS 5200 A 29,600 153,920 0 0 0.000 0
&t 989,134 835,214 0.000 0
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2| EEHER R3fTEREAERLS 0.000] A 57,400 0| 57,400 0 0.000 0
3| HRETA R3MTERAERLE 0.680] A 51,200 34,816| 51,200 34,816 0.000 0
4|5 EMB R3fTEREAERLS 0.680] A 40,600 27,608| 40,600 27,608 0.000 0
5|iEfiC R3ZfTERAERLS 0.000] A 32,800 0| 32,800 0 0.000 0
6|8 R3fTEREAERLS 1.090[ A 29,000 31,610 29,000 31,610 0.000 0
22| T R3MTERAERLS 0.000[ A 29,600 0 0 0 0.000 0
&t 94,034 94,034 0.000 0
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* 16| 8| S HiEm R3fTEREAERLS 0.180] A 40,000 7,200| 40,000 7,200 0.180 7,200
* 17| 8| E B R3MTERAERLE 0.180] A 30,700 5526| 30,700 5,526 0.180 5,526
* 18[;HIZBF R3fTEREAERLS 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BIEWBE R3ZfTERAERLS 0.360[ A 24,200 8,712 24,200 8,712 0.360 8,712
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 21,438 1,072 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 21,438 322 0 0 0.000 0
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* 16 B = BB R3fTEREAERLS 0.680] A 40,000 27,200| 40,000 27,200 0.430| 17,200
* 17 S e R3MTERAERLE 0.790| A 30,700 24,253| 30,700 24,253 0.500| 15,350
* 18[;HIZBF R3fTEREAERLS 1.010] A 29,600 29,896 29,600 29,896 1.010] 29,896
* 19[;BIEWBE R3ZfTERAERLS 3.020] A 24,200 73,084| 24,200 73,084 3.020] 73,084
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 154,433 7,722 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 154,433 2,316 0 0 0.000 0
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* 16 B = BB R3fTEREAERLS 0.140 A 40,000 5,600/ 40,000 5,600 0.000 0
* 17 S e R3MTERAERLE 0.680] A 30,700 20,876/ 30,700 20,876 0.470| 14,429
* 18[;HIZBF R3fTEREAERLS 1.370 29,600 40,552 29,600 40,552 0.940| 27,824
* 19[;BIEWBE R3ZfTERAERLS 0.940 24,200 22,748 24,200 22,748 0.940| 22,748
501 (M A EREEXH] |MELBEINT2EE 5.000 89,776 4,489 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500 89,776 1,347 0 0.000 0
it 95,612 89,776 2.350] 65,001
B i 1.0 KBy 95,612
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* 16| 8| S HiEm R3fTEREAERLS A 40,000 72,000 40,000 72,000 1.500] 60,000
* 17| 8| E B R3MTERAERLE A 30,700 84,732| 30,700 84,732 1.500] 46,050
* 18[;HIZBF R3fTEREAERLS A 29,600 81,696| 29,600 81,696 1.500] 44,400
* 19 AEMHME R3ZfTERAERLS A 24,200 108,900/ 24,200 108,900 4.500| 108,900
501 (M A EREEXH] |MELBEINT2EE % 347,328 17,366 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea % 347,328 5,210 0 0 0.000 0
it 369,904 347,328 9.000| 259,350
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* 16 B = BB R3fTEREAERLS 0.120 A 40,000 4,800 40,000 4,800 0.000 0
* 17 S e R3MTERAERLE 0.240| A 30,700 7,368| 30,700 7,368 0.000 0
* 18;AlEBF R3fTEREAERLS 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BIEWBE R3ZfTERAERLS 0.000[ A 24,200 0| 24,200 0 0.000 0
501 (M A EREEXH] |MELBEINT2EE 1.500] % 12,168 183 0 0 0.000 0
&t 12,351 12,168 0.000 0
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EEAME 12,168
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* 16| 8| S HiEm R3fTEREAERLS 0.140 A 40,000 5,600/ 40,000 5,600 0.090 3,600
* 17| 8| E B R3MTERAERLE 0.160] A 30,700 4912 30,700 4912 0.100 3,070
* 18I EBNF R3fTEREAERLS 0.200f A 29,600 5920/ 29,600 5,920 0.200 5,920
* 19 AEMHME R3ZfTERAERLS 0.600] A 24,200 14,520 24,200 14,520 0.600| 14,520
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 30,952 1,548 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 30,952 464 0 0 0.000 0
it 32,964 30,952 0.990] 27,110
B fi 1.0 KLY 32,964
EEAME 30,952
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data| (&) /NE (L) R AF(0) ERERK0.5kmKH(+0.2)
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* 16| 8| S HiEm R3fTEREAERLS A 40,000 1,200/ 40,000 1,200 0.000 0
* 17| 8| E B R3MTERAERLE A 30,700 4298| 30,700 4,298 0.090 2,763
* 18I EBNF R3fTEREAERLS 29,600 7,992] 29,600 7,992 0.190 5,624
* 19 AEMHME R3ZfTERAERLS 24,200 4598| 24,200 4,598 0.190 4,598
501 (M A EREEXH] |MELBEINT2EE % 18,088 904 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea % 18,088 271 0 0.000 0
it 19,263 18,088 0.470] 12,985
B fi 1.0 KBy 19,263
BEEAHGE 18,088
TS 1,175
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* 16| 8| S HiEm R3fTEREAERLS 0.050] A 40,000 2,000 40,000 2,000 0.030 1,200
* 17| 8| E B R3MTERAERLE 0.260] A 30,700 7,982| 30,700 7,982 0.170 5219
* 18I EBNF R3fTEREAERLS 0.260 29,600 7,696] 29,600 7,696 0.170 5,032
* 19[;BIEWBE R3ZfTERAERLS 0.520 24,200 12,584] 24,200 12,584 0.520] 12,584
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 30,262 1513 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 30,262 454 0 0 0.000 0
it 32,229 30,262 0.890| 24,035
B fi 1.0 KLY 32,229
EEAME 30,262
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* 16| 8| S HiEm R3fTEREAERLS A 40,000 32,400| 40,000 32,400 0.680| 27,200
* 17| 8| E B R3MTERAERLE A 30,700 38,068| 30,700 38,068 0.680| 20,876
* 18[;HIZBF R3fTEREAERLS A 29,600 36,704| 29,600 36,704 0.680| 20,128
* 19 AEMHME R3ZfTERAERLS A 24,200 49,126] 24,200 49,126 2.030| 49,126
501 (M A EREEXH] |MELBEINT2EE % 156,298 7,815 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea % 156,298 2,344 0 0.000 0
it 166,457 156,298 4.070] 117,330
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* 16| 8| S HiEm R3fTEREAERLS 0.500] A 40,000 20,000| 40,000 20,000 0.320| 12,800
* 17| 8| E B R3MTERAERLE 0.580] A 30,700 17,806/ 30,700 17,806 0.370| 11,359
* 18I EBNF R3fTEREAERLS 0.740[ A 29,600 21,904 29,600 21,904 0.740] 21,904
* 19[;BIEWBE R3ZfTERAERLS 2220 A 24,200 53,724| 24,200 53,724 2.220| 53,724
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 113,434 5672 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 113,434 1,702 0 0 0.000 0
it 120,808 113,434 3.650] 99,787
B fi 1.0 KBy 120,808
EEAME 113,434
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* 16 B = BB R3fTEREAERLS 0.110] A 40,000 4,400 40,000 4,400 0.000 0
* 17 S e R3MTERAERLE 0.500] A 30,700 15,350/ 30,700 15,350 0.340| 10,438
* 18[;HIZBF R3fTEREAERLS 1.000 29,600 29,600/ 29,600 29,600 0.690] 20,424
* 19[;BIEWBE R3ZfTERAERLS 0.690 24,200 16,698] 24,200 16,698 0.690| 16,698
501 (M A EREEXH] |MELBEINT2EE 5.000 66,048 3,302 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500 66,048 991 0 0.000 0
it 70,341 66,048 1.720] 47,560
B fi 1.0 KBy 70,341
EEAGE 66,048
ZTDMIZE 4,293
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* 16| 8| S HiEm R3fTEREAERLS 0.180] A 40,000 7,200| 40,000 7,200 0.110 4,400
* 17| 8| E B R3MTERAERLE 0.950] A 30,700 29,165/ 30,700 29,165 0.640| 19,648
* 18I EBNF R3fTEREAERLS 0.950[ A 29,600 28,120/ 29,600 28,120 0.640| 18,944
* 19 AEMHME R3ZfTERAERLS 1.910] A 24,200 46,222| 24,200 46,222 1.910] 46,222
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 110,707 5,535 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 110,707 1,661 0 0 0.000 0
it 117,903 110,707 3.300] 89,214
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data| (&%) /NE (E) R (0) EFm20mK i - FE BT iE K 30m 80mk ;i (0)
5




A 22 8 ) B il 3%

A 3120 | = 58 |BEERES| 3120 |Z=ANEEE
BEmaH |BEER e & 1.00 YE R BT = =xaausen| | FTENEBH
& [ERER20mM LT % 28 NEZEAHGE (HREBDSHLDIES)
wE|wBmN.| £ 5 o i) B 2 | B | £ % B#| £ %8
* 16| 8| S HiEm R3fTEREAERLS 40,000 6,000 40,000 6,000 0.150 6,000
* 17| 8| E B R3MTERAERLE 30,700 4,605 30,700 4,605 0.150 4,605
* 18[;HIZBF R3fTEREAERLS 29,600 0| 29,600 0 0.000 0
* 19 AEMHME R3ZfTERAERLS 24,200 7,260| 24,200 7,260 0.300 7,260
501 (M A EREEXH] |MELBEINT2EE 17,865 893 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 17,865 268 0 0 0.000 0
it 19,026 17,865 0.600| 17,865
B fi 1.0 KBy 19,026
BEEAHGE 17,865
TS 1,161
data| (&) F#3(F) R F(0) ERERK0.5kmKH(+0.2)
5




= RECEE
2 2 8 Il B i 5= g
A 3121 | = 58 | BERBEE| 3121 |EEAHEEE
B EERDENE 1-FNo By B 1.00 {E R B 5L = =xqanEsm| | BT ENEBHK
# & [ZRIER250m LT _ 1% & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 16 B = BB R3fTEREAERLS 0570 A 40,000 22,800| 40,000 22,800 0.360| 14,400
* 17 S e R3MTERAERLE 0.660] A 30,700 20,262| 30,700 20,262 0.420| 12,894
* 18[;HIZBF R3fTEREAERLS 0.840[ A 29,600 24864 29,600 24,864 0.840| 24,864
* 19[;BIEWBE R3ZfTERAERLS 2520 A 24,200 60,984 24,200 60,984 2.520| 60,984
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 128,910 6,446 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 128,910 1,934 0 0 0.000 0
it 137,290 128,910 4140 113,142
B fif 1.0 &Y 137,290
EEAME 128,910
ZTDMIZE 8,380
data| (&) F#3(F) R F(0) ERERK0.5kmKH(+0.2)
5




= F i;EI %
2 2 8 Il B i 5= g
A 3122 | = 58 | BEREE| 3122 |E=ANEEE
B 5 EEHRME 1-FNo By B 1.00 {E R B 5L = =xqanEsm| | BT ENEBHK
B & RRIER20m A LT _ i i NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 16| 8| S HiEm R3fTEREAERLS 0.120 A 40,000 4,800 40,000 4,800 0.000 0
* 17 S e R3MTERAERLE 0570 A 30,700 17,499 30,700 17,499 0.390| 11,973
* 18[;HIZBF R3fTEREAERLS 1.140] A 29,600 33,744 29,600 33,744 0.780] 23,088
* 19[;BIEWBE R3ZfTERAERLS 0.780[ A 24,200 18,876] 24,200 18,876 0.780] 18,876
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 74,919 3,746 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 74,919 1,124 0 0 0.000 0
it 79,789 74,919 1.950] 53,937
B fi 1.0 KBy 79,789
EEAME 74,919
TS 4,870
data| (&) F#3(F) R F(0) ERERK0.5kmKH(+0.2)
5




= F i;EI %
2 2 8 Il B i 5= g
A 3124 | = 58 | BEREE| 3124 |Z=ANEEE
B |HBEmEREER 1-FNo By B 1.00 {E R B 5L = =xqanEsm| | BT ENEBHK
B & [ERIER250m A LT tEETEIEN _ 12 & NERAHE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |HEfu| B i | & 28| B Im | & %8 " BR[| = %
* 16| 8| S HiEm R3fTEREAERLS 0.300] A 40,000 12,000/ 40,000 12,000 0.250| 10,000
* 17| 8| E B R3MTERAERLE 0.460| A 30,700 14,122 30,700 14,122 0.250 7,675
* 18I EBNF R3fTEREAERLS 0.460[ A 29,600 13,616] 29,600 13,616 0.250 7,400
* 19[;BIEWBE R3ZfTERAERLS 0.750[ A 24,200 18,150 24,200 18,150 0.750| 18,150
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 57,888 2,894 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 57,888 868 0 0 0.000 0
it 61,650 57,888 1.500| 43,225
B fi 1.0 KLY 61,650
BEEAHGE 57,888
TS 3,762
dat5a (%) F&E(T)#hR 5 (0) FEETER30~50mKi#(0)




A 22 8 ) B il 3%

&q‘ﬁw
A 3125 | = 58 |BEHRES| 31256 |E=ANEEE
B4 % | F i RER 1-FNo By B 1.00 {E R B 5L = =xqanEsm| | BT ENEBHK
B & RRIER250m T EREERA _ 1% & NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 16 B = BB R3fTEREAERLS 0.120 A 40,000 4,800 40,000 4,800 0.000 0
* 17 S e R3MTERAERLE 0.240| A 30,700 7,368| 30,700 7,368 0.000 0
* 18;AlEBF R3fTEREAERLS 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BIEWBE R3ZfTERAERLS 0.000[ A 24,200 0| 24,200 0 0.000 0
501 (M A EREEXH] |MELBEINT2EE 1.500] % 12,168 183 0 0 0.000 0
&t 12,351 12,168 0.000 0
B fif 1.0 &Y 12,351
EEAME 12,168
ZTDMRE 183
dat5a (E2) T8 (T)RFRERO0.5kmEKH(-0.2) FoiEMbE10m(-0.2)




= F i;EI %
2 2 8 Il B i 5= g
A 3134 | = 58 |BERE S| 3134 |Z=ANEEE
B |HBEmEREER 1-FNo By B 1.00 {E R B 5L = =xqanEsm| | BT ENEBHK
B & [ERIER250m A LT tEETEIEN _ 12 & NERAHE B o= ||[EEDLONES
RSN | % 71 ] 1& B = |HEfu| B i | & 28| B Im | & %8 " BR[| = %
* 16| 8| S HiEm R3fTEREAERLS 0.330] A 40,000 13,200/ 40,000 13,200 0.280| 11,200
* 17| 8| E B R3MTERAERLE 0510, A 30,700 15,657| 30,700 15,657 0.280 8,596
* 18I EBNF R3fTEREAERLS 0510 A 29,600 15,096] 29,600 15,096 0.280 8,288
* 19[;BIEWBE R3ZfTERAERLS 0.830[ A 24,200 20,086 24,200 20,086 0.830] 20,086
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 64,039 3,202 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 64,039 961 0 0 0.000 0
it 68,202 64,039 1.670| 48,170
B i 1.0 KLY 68,202
BEEAHGE 64,039
TS 4,163
data| (&) F#3(F) R (0) HEETERS50mLL E(+0.1)
5




A 22 8 ) B il 3%

A 3140 | = 58 | BERES| 3140 |E=ANEEE
BEmaH |BEER 1-FNo By B 1.00 {E R B 5L = =xqanEsm| | BT ENEBHK
# & (IS EE1.40ha _ # i NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
* 16| 8| S HiEm R3fTEREAERLS 1.400 A 40,000 56,000 40,000 56,000 1.400] 56,000
* 17| 8| E B R3MTERAERLE 1.400 30,700 42,980| 30,700 42,980 1.400] 42,980
* 18[;HIZBF R3fTEREAERLS 0.000 29,600 0| 29,600 0 0.000 0
* 19[;BIEWBE R3ZfTERAERLS 2.800 24,200 67,760 24,200 67,760 2.800] 67,760
501 (M A EREEXH] |MELBEINT2EE 5.000[ % 166,740 8,337 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 166,740 2,501 0 0 0.000 0
it 177,578 166,740 5.600 166,740
B fif 1.0 &Y 177,578
BEEAHGE 166,740
TS 10,838
data| (E%) /NE (L) #hiR##(+0.2) |LUEMFE1.0hall £2.0hazkim(0) ERATER1 288FT(-0.2)
5
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REBHRE

eIy
A 3141 | = 58 |BERBEE| 314 | EEANEEE
B4 F ZEEUETmEANE 1-FNo By B 1.00 {E R B 5L = =xqanEsm| | BT ENEBHK
# & (IS EE1.40ha _ # i NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
* 16| 8| S HiEm R3fTEREAERLS 1120 A 40,000 44,800| 40,000 44,800 0.000 0
* 17| 8| E B R3MTERAERLE 5.180 30,700 159,026/ 30,700 159,026 3.500| 107,450
* 18I EBNF R3fTEREAERLS 5.180 29,600 153,328] 29,600 153,328 3.500| 103,600
* 19 B2 E R3FfTEEERLE 10.500 24,200 254,100 24,200 254,100 10.500| 254,100
501 (M A EREEXH] |MELBEINT2EE 5.000] % 611,254 30,563 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 611,254 9,169 0 0 0.000 0
it 650,986 611,254 17.500| 465,150
B i 1.0 KLY 650,986
BEEAHGE 611,254
TS 39,732
data| (E%) /NE (L) #hiR##(+0.2) |LUEMFE1.0hall £2.0hazkim(0) ERATER1 288FT(-0.2)
5




A 22 8 ) B il 3%

REBHRE

eIy
&S 3142 = 58 | BERBEE| 3142 |Z=AHEEE
BT |1Z2E 1LAS MR R & 1.00 {E R B 5L = =xaausen| | FTENEBH
# & [LLFEmE#E1.40ha HEETIE R 300m 1 28 NEZEAHGE (HREBDSHLDIES)
wE|wBmN.| £ a1 o i) B 2 | B | £ % B#| £ %8
* 16| 8| S HiEm R3fTEREAERLS 40,000 12,000/ 40,000 12,000 0.000 0
* 17| 8| E B R3MTERAERLE 30,700 73,680 30,700 73,680 1.800] 55,260
* 18I EBNF R3fTEREAERLS 29,600 128,760 29,600 128,760 3.600| 106,560
* 19 AEMHME R3ZfTERAERLS 24,200 95.832| 24,200 95,832 3.960| 95,832
501 (M A EREEXH] |MELBEINT2EE 310,272 15,514 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 310,272 4,654 0 0 0.000 0
it 330,440 310,272 9.360] 257,652
B i 1.0 KLY 330,440
BEEAHGE 310,272
TS 20,168

data| (f%) /NG (E) HiREE(+0.2)




A 22 8 ) B il 3%

REBHRE

eIy
A 3143 | = 58 | BERE S| 3143 |EEANEEE
BEmf 5 [Z2EILSERRE 1-FNo By B 1.00 {E R B 5L = =xqanEsm| | BT ENEBHK
# & [ILAEETE1.40na AEETER20%E T _ # 8 NEEAGE B o= ||[EEDLONES
RSN | % 71 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
* 16| 8| S HiEm R3fTEREAERLS 4400 A 40,000 176,000/ 40,000 176,000 4.400| 176,000
* 17| 8| E B R3MTERAERLE 6.200] A 30,700 190,340/ 30,700 190,340 4.400| 135,080
* 18I EBNF R3fTEREAERLS 10.600 29,600 313,760 29,600 313,760 8.800| 260,480
* 19 AEMHME R3ZfTERAERLS 8.800 24,200 212,960| 24,200 212,960 8.800| 212,960
501 (M A EREEXH] |MELBEINT2EE 5.000] % 893,060 44,653 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 893,060 13,396 0 0 0.000 0
it 951,109 893,060 26.400| 784520
B fi 1.0 KLY 951,109
BEEAHGE 893,060
TS 58,049
data| (&%) /NE (L) #hiR#(+0.2) LIRS HE R E R 50m K ;#(-0.1)
5




A 22 8 ) B il 3%

e

3144 | = 58 | BERBE| 314 |E=ANEEE
B4 % | F i RER 1-FNo By B 1.00 {E R B 5L = =xqanEsm| | BT ENEBHK
# & [ILAEETE1.40ha FERIERA _ i i NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 16 B = BB R3fTEREAERLS 0.240] A 40,000 9,600/ 40,000 9,600 0.000 0
* 17 S e R3MTERAERLE 0.480 30,700 14,736| 30,700 14,736 0.000 0
* 18[;HIZBF R3fTEREAERLS 0.000 29,600 0| 29,600 0 0.000 0
* 19[;BIEWBE R3ZfTERAERLS 0.000 24,200 0| 24,200 0 0.000 0
501 (M A EREEXH] |MELBEINT2EE 1.500] % 24,336 365 0 0 0.000 0
&t 24,701 24,336 0.000 0
B fif 1.0 &Y 24,701
BEEAHGE 24,336
TS 365
data (&%) /NE (E) ILEXEEFE1.0hall E(+0.4) HF 5 #EREIFR10m(-0.2)
5




A 22 8 ) B il 3%

A 3154 | = 58 | BERE S| 3154 |E=ANEEE
B4 % | F i RER 1-FNo By B 1.00 {E R B 5L = =xqanEsm| | BT ENEBHK
# & [ILfEMEE1.40ha FEIR{ERB _ 2 i NERAHE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 16| 8| S HiEm R3fTEREAERLS 0.560] A 40,000 22,400| 40,000 22,400 0.000 0
* 17| 8| E B R3MTERAERLE 1120 A 30,700 34,384| 30,700 34,384 0.000 0
* 18[;HIZBF R3fTEREAERLS 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BIEWBE R3ZfTERAERLS 0.000[ A 24,200 0| 24,200 0 0.000 0
501 (M A EREEXH] |MELBEINT2EE 1.500] % 56,784 852 0 0 0.000 0
&t 57,636 56,784 0.000 0
B fi 1.0 KLY 57,636
BEEAHGE 56,784
TS 852
data| (&%) /N& (L) LR EFE1.0hall £(+0.4) ZH=#&EEFE5mM(0)
5




A 22 8 ) B il 3%

A 3160 | = 58 | BEHRES| 3160 |E=ANEEE
BEmaH |BEER e & 1.00 YE R BT = =xaausen| | FTENEBH
¥ & |IUEmTE2.20ha % 28 NEZEAHGE (HREBDSHLDIES)
wE|wBmN.| £ 5 o i) B 2 | B | £ % B#| £ %8
* 16| 8| S HiEm R3fTEREAERLS 40,000 70,400 40,000 70,400 1.760] 70,400
* 17| 8| E B R3MTERAERLE 30,700 54,032| 30,700 54,032 1.760] 54,032
* 18[;HIZBF R3fTEREAERLS 29,600 0| 29,600 0 0.000 0
* 19 AEMHME R3ZfTERAERLS 24,200 85,184| 24,200 85,184 3.520| 85,184
501 (M A EREEXH] |MELBEINT2EE 209,616 10,481 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 209,616 3,144 0 0 0.000 0
it 223,241 209,616 7.040| 209,616
B fi 1.0 KBy 223,241
BEEAHGE 209,616
TS 13,625
data (%) K& (L) R E(+0.2) LUEMEE2.0hall £(-0.2) BERTE1 2 Fr(-0.2)
5




A 22 8 ) B il 3%

REBHRE

eIy
A 3161 | = 58 | BEERES| 3161 |E=ANEEE
B4 F ZEEUETmEANE R & 1.00 YE R BT = =xaausen| | FTENEBH
¥ & |IUEmTE2.20ha % 28 NEZEAHGE (HREBDSHLDIES)
wE|wBmN.| £ 5 o i) B 2 | B | £ % B#| £ %8
* 16| 8| S HiEm R3fTEREAERLS 40,000 52,800| 40,000 52,800 0.000 0
* 17| 8| E B R3MTERAERLE 30,700 195,866/ 30,700 195,866 4.400| 135,080
* 18I EBNF R3fTEREAERLS 29,600 188,848| 29,600 188,848 4.400| 130,240
* 19 AEMHME R3ZfTERAERLS 24,200 319,440| 24,200 319,440 13.200| 319,440
501 (M A EREEXH] |MELBEINT2EE 756,954 37,848 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 756,954 11,354 0 0 0.000 0
it 806,156 756,954 22.000| 584,760
B i 1.0 KLY 806,156
BEEAHGE 756,954
TS 49,202
data (%) K& (L) R E(+0.2) LUEMEE2.0hall £(-0.2) BERTE1 2 Fr(-0.2)
5




A 22 8 ) B il 3%

REBHRE

eIy
&S 3162 = 58 | BEERES| 3162 |E=ANEEE
BT |1Z2E 1LAS MR R & 1.00 {E R B 5L = =xaausen| | FTENEBH
# & [LLFE@E#E2.20ha HEETIE R 250m 1 28 NEZEAHGE (HREBDSHLDIES)
wE|wBmN.| £ a1 o i) B 2 | B | £ % B#| £ %8
* 16| 8| S HiEm R3fTEREAERLS 40,000 10,000/ 40,000 10,000 0.000 0
* 17| 8| E B R3MTERAERLE 30,700 61,400| 30,700 61,400 1.500] 46,050
* 18I EBNF R3fTEREAERLS 29,600 107,448] 29,600 107,448 3.000/ 88,800
* 19 AEMHME R3ZfTERAERLS 24,200 79,860 24,200 79,860 3.300| 79,860
501 (M A EREEXH] |MELBEINT2EE 258,708 12,935 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 258,708 3,881 0 0 0.000 0
it 275,524 258,708 7.800| 214,710
B fif 1.0 &Y 275,524
BEEAHGE 258,708
TS 16,816

data| (jBE) KA (L£)HhREH#(+0.2)




A 22 8 ) B il 3%

REBHRE

eIy
A 3163 | = 58 | BEHRES| 3163 |E=ANEEE
BEmf 5 [Z2EILSERRE 1-FNo By B 1.00 {E R B 5L = =xqanEsm| | BT ENEBHK
# & [ILAEET52.20na AEETER20%E T _ # 8 NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
* 16| 8| S HiEm R3fTEREAERLS 4400 A 40,000 176,000/ 40,000 176,000 4.400| 176,000
* 17| 8| E B R3MTERAERLE 6.200 30,700 190,340/ 30,700 190,340 4.400| 135,080
* 18I EBNF R3fTEREAERLS 10.600 29,600 313,760 29,600 313,760 8.800| 260,480
* 19 AEMHME R3ZfTERAERLS 8.800 24,200 212,960| 24,200 212,960 8.800| 212,960
501 (M A EREEXH] |MELBEINT2EE 5.000] % 893,060 44,653 0 0 0.000 0
502| MR E IS EH] Mg LtE T 2Ea 1.500] % 893,060 13,396 0 0 0.000 0
it 951,109 893,060 26.400| 784520
B fi 1.0 KLY 951,109
EEAME 893,060
TS 58,049
data| (%) K& (L) #hRE#(+0.2) LREHERTER50mK;#(-0.1)
5
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3164 | = 58 | BERES| 3160 |EEANEEE
B4 % | F i RER 1-FNo By B 1.00 {E R B 5L = =xqanEsm| | BT ENEBHK
# & [ILAEET52.20ha FERIERA _ i i NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 16 B = BB R3fTEREAERLS 0.240] A 40,000 9,600/ 40,000 9,600 0.000 0
* 17| 8| E B R3MTERAERLE 0.480] A 30,700 14,736| 30,700 14,736 0.000 0
* 18[;HIZBF R3fTEREAERLS 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BIEWBE R3ZfTERAERLS 0.000[ A 24,200 0| 24,200 0 0.000 0
501 (M A EREEXH] |MELBEINT2EE 1.500] % 24,336 365 0 0 0.000 0
&t 24,701 24,336 0.000 0
B fif 1.0 &Y 24,701
BEEAHGE 24,336
TS 365
data (&%) X& (E) ILEXEEFEI.Ohall E(+0.4) HF5#EREIFR10m(-0.2)
5




A 22 8 ) B il 3%

A 3174 | = 58 | BERBE| 3174 |Z=AHEEE
B4 % | F i RER 1-FNo By B 1.00 {E R B 5L = =xqanEsm| | BT ENEBHK
# & |[ILfEmiE2.20ha FEIRERB _ 2 i NERAHE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 16| 8| S HiEm R3fTEREAERLS 0.560] A 40,000 22,400| 40,000 22,400 0.000 0
* 17| 8| E B R3MTERAERLE 1.120 30,700 34,384| 30,700 34,384 0.000 0
* 18[;HIZBF R3fTEREAERLS 0.000 29,600 0| 29,600 0 0.000 0
* 19[;BIEWBE R3ZfTERAERLS 0.000 24,200 0| 24,200 0 0.000 0
501 (M A EREEXH] |MELBEINT2EE 1.500] % 56,784 852 0 0 0.000 0
&t 57,636 56,784 0.000 0
B fi 1.0 KLY 57,636
BEEAHGE 56,784
TS 852
data| (%) K& (L) ILEREETE1.0hall L(+0.4) F=RRER5m(0)
5




